Construction division. Advice for giving credit to contractors/suppliers.

regi			1118		Date Regis	- site bill ter	8	9/4/	2028	
Company Name: MR			1RMLL	S.A.				6.M.R		
Nan	e of Contractor	1	anjan	V	ain					
Natu	re of work ·	1	re cutti	na u	costo	Jane	at	F-B	lock.	
Wor	k done	From	m Date	V021	03/	20 21 To	Date	THE R. P. LEWIS CO., LANSING, SPINSTER, SPINST	12022	
SI. No.	Villa/Flat/block no).	Qty.	Rate		Units	Amou		Contractors bill no	
1.	Towards F-BI	Pock	. 8	48	25	blate	38	,600 -		
2.	flat no: - 502,	503		an rabohier sidaka Zenda			CONTRACT MATERIAL SERVICE			
3.	504, 505, 602,	3								
4.	604,605 COY									
5.	cutting wo	b								
6.	done O				Marian Art III					
7.										
8.										
9.										
10.	,					·				
11.	To	otal;		en synthesis en	and a second second second		THE RESERVE AND ADDRESS OF THE PARTY.	,600	+/	
ill re	bening	OY	es e no.		GST	bill requ	ired	O YES	JNO.	
	aroment & te sheet:		equired ot required		estin	surement nate shee	t	□ Ench	osed enclosed	
3/W	Ono.				POM	WO date:		<u> </u>		
729	rks: All		Dorles (ome	lete	ed.				
	-									
				Senta Monte (Cris-at						
o perpositivacifico						ale i cordi di came in cane				
pro	ved by Project Ma	nage	Appr	oved b	y Des	ign Tear	n A	pproved	by M.D.	
se:	1	7	Date:	Date:				Date:		
gn:	A Company	ilou	Sign:	4,		tekerja diet teresing Athjättelfan is 1945 til	S	ign:		

Notes: 1. This advice must be sent within 7 days of completing work. 2. This form can be used for centifying inhour bills, bills for hire charges, earth work, turnkey civil contractors. 3. Wherever not applicable – fill NA. 4. Estimate and measurement shoets are not required for turnkey jobs where guideline rates are clearly given.

MEASUREMENT	SHEET	,					***************************************	
Company Name:	MRMallapurLLP							
Project:	Gulmohar Residency					Approved	by:	Ram prasad
Work Description:						Sign:		
Contractor:	Ranjan Swain				-			
Prepared By	G.Rajesh	-			-			
Date:	07.04.2022							
		A STATE OF THE STA			1			
			A	В	С	D	E= AxBxCxD	F
S No.	Item Head	Item Description	Length	Width	Height	Nos	Quantity	Units
1	F-block	Core cutting						
	F-502,503,504,505,	5" hole in slab	1.00	1.00	1.00	48.00	48.00	Nos
	F-602,603,604,605	4" hole in slab	1.00	1.00	1.00	24.00	24.00	Nos
		3" hole in slab	1.00	1.00	1.00	24.00	24.00	Nos
		5" hole in beam	1.00	1.00	1.00	16.00	16.00	Nos
		4" hole in beam	1.00	1.00	1.00	16.00	16.00	Nos

ESTIMATE SHEE	T						_
Company Name:	MRMallapurLLP						
Project:	Gulmohar Residency				Approved by:	Ram prasad	
					Sign:		
Contractor:	Ranjan Swain						
Prepared By	G.Rajesh						
Date:	07.04.2022						
S No.	Item Head	Item Description	Quantity	Units	Rate	Amount	
1	F-block	5" hole in slab	48.00	No's	300.00	14400.00	
	F-502,503,504,505,	4" hole in slab	24.00	No's	275.00	6600.00	
	F-602,603,604,605	3" hole in slab	24.00	No's	250.00	6000.00	
		5" hole in beam	16.00	No's	375.00	6000.00	
		4" hole in beam	16.00	No's	350.00	5600.00	
						38,600.00	
		Amount in words: Thirt					

Allowance for Consumables

Rajan Swain, Mallapur, Hyderabad.

Date: 07.04.22

In favor of:

MRMailapurLLP

Project / Site:

Gulmohar Residency

Location:

Mallapur

Type of Work:

Core Cutting done for F-Block .

Towards:

Allowance for Consumables.

S No.	Description	Amount
1.	Brief description of work done: Towards CoreCutting work done at F-Block for flat no F-502,503,504,505,602,603,604,605. flats. Total Amount = 38,600/- Work done from date 02.03.22 to date 03.04.22.	Rs.7,720 /-

Amount in words: Seven Thousand Seven Hundred And Twenty Rupees Only.

Sign: Ranjan 6w or'n

Bill for Labour Charges

Rajan Swain, Mallapur, Hyderabad.

Date: 07.04.22

In favor of:

MRMallapurLLP

Project / Site:

Gulmohar Residency

Location:

Mallapur

Type of Work:

Core Cutting work done for f-Block.

Towards:

Allowance for Consumables.

S No.	Description	Amount
1.	Brief description of work done: Towards CoreCutting	
	work done at F-Block for flat no F-	Rs.15,440 /-
	502,503,504,505,602,603,604,605. flats.	
	Total Amount = 38,600/-	
	Work done from date 02.03.22 to date 03.04.22.	

Amount in words: Fifteen Thousand Four Hundred And Fourty Rupees Only.

Sign: Ranjon Ewain

Bill for Equipment Allowance

Rajan Swain, Mallapur, Hyderabad.

Date: 07.04.22

In favor of:

MRMallapurLLP

Project / Site:

Gulmohar Residency

Location:

Mallapur

Type of Work:

Core Cutting work done for F-Block .

Towards:

Allowance for Consumables.

S No.	Description	Amount
1.	Brief description of work done: Towards CoreCutting work done at F-Block for flat no F-	
	502,503,504,505,602,603,604,605. flats. Total Amount = 38,600/-	Rs.15,440 /-
	Work done from date 02.03.22 to date 03.04.22.	

Amount in words: Fifteen Thousand Four Hundred And Fourty Rupees Only.

Sign: Ranjane waih